Read The prob/ems be/ow carefu//y. Then, use The bOX@S fo ShOW HOW” Working

out in order to solve the prob/em and record the answer in the answer box.

|'. Farmer Brown has herds of cattle on his farm. He has 200 cows in total. + of the
cows are /‘/igh/and cows. How many /'//gh/and cows does he have?

2. Arthur purchased a bag of lollies. In the bag, there were green, ge//ow, red, orange
and pur,v/e lollies. He counted 4O lollies in total. + were red. How many red lollies

many cupca/ees had chocolate ic/ng?

L. Matthew had $60 saved up in his bank account. He went to the sholz)s and sloem‘ T of
It on a game. How much money did he have left?

Regent Studies | www.regentstudies.com


https://www.regentstudies.com

Findmg Fractions of a Set Word Problems Answers

I

Farmer Brown has herds of cattle on his farm. He has 200 cows in total. 4+ of the
cows are /‘//‘gh/and cows. How many /‘//’gh/and cows does he have?

50 High/and cows

Arthur pwchased a bag of lollies. In the bag, there were green, ge//ow, red, orange
and pwp/e lollies. He counted LO lollies in total. + were red. How many red lollies

were There ?

20 red lollies

Aroha baked a batch of 7L cupcakes. She iced + of them with chocolate icmg. How

many cupca/ees had chocolate /cmg?

6 cupcalees

. Matthew had $6O saved up in his bank account. He went to the shops and spenf T of

it on a game. How much money did he have left?

$20

. F/ew owned a f/ower SI’YOP. ]i’l helf S/’?OP are SO bOMqM@TS O?[ I[/OWQI"S. % O{ T/’?@VVI contain

daffodils. How many bouquets have daffodils ?
10 bouquefs
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Read The prob/ems be/ow carefu//y. Then, use The bOX@S fo ShOW HOW” working

out in order to solve the prob/em and record the answer in the answer box.

I, Max Iowchasea’ some marbles at the foy shop. The pac/@el‘ had 4O marbles and % of them

were multicoloured. How many multicoloured marbles did Max gef.?

7. Hamish worked at a bird rescue centre. % of the birds at the centre were b/ac/ebir. He
counted 60 birds in total. How many blackbirds were there?

3. Kate was p/ann/ng a /oarfg. She needed ZL/eg of strawberries for the reci,nes she wanted

to make. + of the strawberries were for pau/ouas. How many /egs of strawberries would

Kate need for her pau/ouas?

/

. Curtis was a horse farmer. He had 56 horses on his farm. 7 of them were C/gdesda/e
horses. How many C/gdesda/e horses did he have?

/

5. Rebecca worked at a cafe. Each dag the cafe sold L& g/asses of ju/'ce. 5 of those g/asses

were ap/o/e juice. How many individual g/asses of ap/z)/e juice did Theg sell each dag?_ _
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| Max Inwchased some marbles at the Tog 5/70/0. The pac/eef had 1O marbles and % of them

were multicoloured. How many multicoloured marbles did Max geT?

5 multicoloured marbles

7. Hamish worked at a bird rescue centre. % of the birds at the centre were blackbirds. He
counted 60 birds in total. How many blackbirds were there?

| 2 blackbirds

3. Kate was p/annmg a parfg. She needed ZL/ef/ of strawberries for the recipes she wanted
to make. + of the strawberries were for pau/ouas. How many /egs of strawberries would

KGTQ need I(OI" her ID(ZV/OUGS.?

bkg

Zr—. CMI’TIS was a hOI’S@ farmer. /_/6 had 56 horses on h/S farm. %Ol{ Them were C/gdesda/e
horses. /—/OW manﬂ C/gdesda/e horses dld }16 haue?

8 C/ya'esa'a/e hOI‘SCS

5. Rebecca worked at a cafe. Each a’ag the cafe sold L& g/asses of juice. % of those g/asses
were app/e julce. How many individual g/asses of app/e julce did Theg sell each a’ag?

6 g/asses of app/e juice
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Read The /:)rob/ems bE/OW CW"EI(M//% Then, use The bOXéS fo ShOW ﬂOW’ WOI’"/@IT)g

ouf in order to solve the prob/em and record the answer in the answer box.

| Maria works at an ice cream shop over the summer ho/ldags. She sells 69 deluxe ice

Y
cream suna’aes a dﬂg 3 07[ Them are choco/m‘e ﬁ(ll/OMV@d. HOW mang ChOCO/ﬂTé sundaes are

" sold each dag?

At the native animal sancmarg, the /eeepers are domg a headcount of all the animals.
3
Theg have L5 tuatara Currenf/g in their care. T of them are male. How many male

tuatara do Theg have 7

b
wins 7 of the time. How many times does he win in total 7

.. Maia and Steve shared a pac/eef of multicoloured lollies. Theg counted them before eafmg 7-

L
and there were b in total. T of them were green. How many green ollies were there?

5. Peter makes his coffee using 200ml of /lquid. % of the /iquld is milk. How many
millilitres of milk does he use in his coffee?
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|'. Maria works at an ice cream shop over the summer ho//dags. She sells 69 deluxe ice

Y
cream sundaes a dﬂg 3 O{ T/»em are C})OCO/GTQ {/GUOMV‘éd. HOW mang C/’?OCO/GTé SW’]dﬂ@S are

SO/Q, each dﬁy?

L6 chocolate sundaes

/. At The native anima/ sancmarg, The /eeepers are domg a headcoum‘ of all The anima/s.

3
Theg have L5 tuatara currenf/y in their care. 5 of them are male. How many male

tuatara do Theg have 7

27 male tuatara

3. Rangi and Grace g0 to the amusement par/e. They ride the bumlner cars 81 times. Rangi

wins T of the time. How many times does he win in total 7

5L wins for Rangi

L. Maia and Steve shared a pac/eel‘ of multicoloured lollies. Theg counted them before em‘ing

I
and there were 8L in total. 7 of them were green. How many green lollies were there?

L& green lollies

5. Peter makes his coffee usmq 200ml of //qmd. % of the /Iquid is milk. How many
millilitres of milk does he use in his coffee?

[ 50mls of milk
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